

Tuesday Trio 25/26

Tuesday 6:30 pm

Interstate Bowl North

Lanes 1 - 20

USBC Certification:

Secretary/Treasurer: William Miller (____)____-_____

Team Standings

| Place | # | Team Name | %Won | Points Won | Points Lost | UnEarned Points | Y-T-D % WON | Year-To-Date WON | Y-T-D LOST | Games Won | Scratch Pins | Pins + HDCP |
|-------|----|--------------------|------|------------|-------------|-----------------|-------------|------------------|------------|-----------|--------------|-------------|
| 1 | 9 | CASH IN LAW | 82.9 | 29 | 6 | | 70.6 | 84 | 35 | 12 | 31100 | 33842 |
| 2 | 13 | KENJIMS | 68.6 | 24 | 11 | | 51.3 | 61 | 58 | 10 | 29711 | 33512 |
| 3 | 6 | FAMILY TRADITIONS | 68.6 | 24 | 11 | | 63.9 | 76 | 43 | 10 | 30002 | 33509 |
| 4 | 19 | MYERS FORD ELKTON | 62.9 | 22 | 13 | | 60.5 | 72 | 47 | 9 | 33601 | 34330 |
| 5 | 20 | B. A. D. | 60.0 | 21 | 14 | | 56.3 | 67 | 52 | 9 | 25662 | 33270 |
| 6 | 7 | PRICE ELEX | 60.0 | 21 | 14 | | 50.4 | 60 | 59 | 9 | 26381 | 33014 |
| 7 | 8 | Team 8 | 54.3 | 19 | 16 | | 69.7 | 83 | 36 | 8 | 29458 | 33523 |
| 8 | 16 | ANIPRO | 54.3 | 19 | 16 | | 52.1 | 62 | 57 | 8 | 25167 | 33072 |
| 9 | 18 | YANKEES | 51.4 | 18 | 17 | | 47.0 | 56 | 63 | 8 | 28454 | 33731 |
| 10 | 15 | SPARE PARTS | 51.4 | 18 | 17 | | 46.2 | 55 | 64 | 8 | 28811 | 33575 |
| 11 | 12 | HIGH ROLLERS | 48.6 | 17 | 18 | | 44.5 | 53 | 66 | 8 | 26292 | 33066 |
| 12 | 10 | LESS THAN AVERAGE | 48.6 | 17 | 18 | | 43.7 | 52 | 67 | 7 | 23282 | 32720 |
| 13 | 2 | SLOP COUNTS | 45.7 | 16 | 19 | | 42.9 | 51 | 68 | 7 | 27179 | 33257 |
| 14 | 1 | Team 1 | 45.7 | 16 | 19 | | 46.2 | 55 | 64 | 7 | 28702 | 33133 |
| 15 | 17 | SHIVAHBOOSH | 40.0 | 14 | 21 | | 47.9 | 57 | 62 | 6 | 30430 | 33376 |
| 16 | 4 | TRIPLE G | 40.0 | 14 | 21 | | 40.3 | 48 | 71 | 6 | 22520 | 32489 |
| 17 | 11 | LUNAR LEGENDS | 37.1 | 13 | 22 | | 39.5 | 47 | 72 | 6 | 24545 | 32973 |
| 18 | 3 | RACKEM SMACKEM | 34.3 | 12 | 23 | | 42.9 | 51 | 68 | 5 | 30073 | 33397 |
| 19 | 5 | JKJ MECHANICAL | 25.7 | 9 | 26 | | 42.0 | 50 | 69 | 4 | 25283 | 32720 |
| 20 | 14 | SPLITS AND GIGGLES | 20.0 | 7 | 28 | | 42.0 | 50 | 69 | 3 | 25289 | 32903 |

Review of Last Week's Bowling.....

| Lanes | Team Name | HDCP -1- | HDCP -2- | HDCP -3- | HDCP Total | Last Wk WON | | Team Name | HDCP -1- | HDCP -2- | HDCP -3- | HDCP Total | Last Wk WON |
|-------|-------------------|------------|------------|------------|-------------|-------------|-------|--------------------|------------|------------|------------|-------------|-------------|
| 1-2 | KENJIMS | 582 | 704 | 621 | 1907 | 2 | <---> | RACKEM SMACKEM | 627 | 632 | 697 | 1956 | 5 |
| 3-4 | Team 8 | 580 | 643 | 539 | 1762 | 2 | <---> | B. A. D. | 629 | 634 | 634 | 1897 | 5 |
| 5-6 | HIGH ROLLERS | 614 | 645 | 628 | 1887 | 2 | <---> | ANIPRO | 639 | 627 | 711 | 1977 | 5 |
| 7-8 | MYERS FORD ELKTO | 680 | 675 | 566 | 1921 | 5 | <---> | Team 1 | 655 | 592 | 593 | 1840 | 2 |
| 9-10 | LESS THAN AVERAGE | 602 | 685 | 659 | 1946 | 5 | <---> | JKJ MECHANICAL | 583 | 701 | 595 | 1879 | 2 |
| 11-12 | YANKEES | 650 | 671 | 583 | 1904 | 2 | <---> | PRICE ELEX | 705 | 631 | 623 | 1959 | 5 |
| 13-14 | LUNAR LEGENDS | 620 | 612 | 686 | 1918 | 5 | <---> | SPARE PARTS | 577 | 637 | 646 | 1860 | 2 |
| 15-16 | SHIVAHBOOSH | 573 | 581 | 599 | 1753 | 2 | <---> | SPLITS AND GIGGLES | 582 | 575 | 613 | 1770 | 5 |
| 17-18 | SLOP COUNTS | 610 | 624 | 668 | 1902 | 2 | <---> | CASH IN LAW | 700 | 660 | 577 | 1937 | 5 |
| 19-20 | TRIPLE G | 631 | 607 | 614 | 1852 | 2 | <---> | FAMILY TRADITIONS | 624 | 624 | 688 | 1936 | 5 |

Lane Assignments

| | 1-2 | 3-4 | 5-6 | 7-8 | 9-10 | 11-12 | 13-14 | 15-16 | 17-18 | 19-20 |
|-----------|--------|--------|-------|--------|-------|--------|-------|-------|-------|--------|
| Today | 12- 10 | 14- 11 | 19- 3 | 18- 16 | 13- 7 | 1- 5 | 6- 20 | 9- 8 | 4- 17 | 15- 2 |
| Next Week | 19- 7 | 18- 10 | 6- 9 | 5- 3 | 12- 1 | 16- 13 | 14- 2 | 11- 4 | 15- 8 | 20- 17 |

Individual High Averages

| | | | | | |
|--------|----------------|--------|-------------|--------|-----------|
| 225.59 | William Miller | 224.52 | Kyle Miller | 222.31 | Jack Cash |
|--------|----------------|--------|-------------|--------|-----------|

Last Week's Top Scores

| | | | | | | |
|-----------------|------|-------------------|------|---------------|------|----------------|
| Scratch Game | 675 | MYERS FORD ELKTON | 662 | CASH IN LAW | 640 | RACKEM SMACKEM |
| Scratch Series | 1906 | MYERS FORD ELKTON | 1823 | CASH IN LAW | 1785 | RACKEM SMACKEM |
| Handicap Game | 711 | ANIPRO | 705 | PRICE ELEX | 704 | KENJIMS |
| Handicap Series | 1977 | ANIPRO | 1959 | PRICE ELEX | 1956 | RACKEM SMACKEM |
| Scratch Game | 288 | Travis Nelson | 266 | Robbie Miller | 257 | Brennan Brown |
| Scratch Series | 722 | Travis Nelson | 685 | Robbie Miller | 673 | Jack Cash |
| Handicap Game | 288 | Travis Nelson | 272 | David Miller | 268 | Rudy Long |
| Handicap Series | 744 | David Miller | 722 | Travis Nelson | 716 | Jack Humphry |

Weekly Game Over Average

Game - Avg=Difference

Weekly Series over Average

Series - Avg=Difference

Weekly Game Over Average

| Game - Avg=Difference | |
|-----------------------|---------------|
| 288 - 221=67 | Travis Nelson |
| 243 - 187=56 | David Miller |
| 232 - 180=52 | Rudy Long |

Weekly Series over Average

| Series - Avg=Difference | |
|-------------------------|---------------|
| 657 - 561=96 | David Miller |
| 656 - 591=65 | Jack Humphry |
| 722 - 663=59 | Travis Nelson |

Season High Scores

| | | | | | | |
|-----------------|------|-------------------|------|---------------|------|-------------------|
| Scratch Game | 782 | MYERS FORD ELKTON | 776 | SHIVAHBOOSH | 715 | KENJIMS |
| Scratch Series | 2086 | MYERS FORD ELKTON | 1993 | CASH IN LAW | 1992 | SHIVAHBOOSH |
| Handicap Game | 832 | LUNAR LEGENDS | 795 | SHIVAHBOOSH | 793 | MYERS FORD ELKTON |
| Handicap Series | 2191 | LUNAR LEGENDS | 2178 | YANKEES | 2173 | SPARE PARTS |
| Scratch Game | 289 | William Miller | 288 | Travis Nelson | 288 | Terry Horne |
| Scratch Series | 768 | Jack Cash | 757 | Kyle Miller | 738 | Travis Nelson |
| Handicap Game | 318 | Robert Gray | 318 | Ivan Barisic | 314 | Bradly Burnett |
| Handicap Series | 806 | Bradly Burnett | 794 | Jim Pederson | 792 | Jim Flick |

Season Game Over Average

| Game - Avg=Difference | |
|-----------------------|----------------|
| 269 - 165=104 | Robert Gray |
| 279 - 176=103 | Ivan Barisic |
| 278 - 179=99 | Bradly Burnett |

Season Series over Average

| Series - Avg=Difference | |
|-------------------------|----------------|
| 698 - 537=161 | Bradly Burnett |
| 713 - 567=146 | Jim Pederson |
| 717 - 576=141 | Jim Flick |

Split 1 High Scores

| | | | | | | |
|-----------------|------|-------------------|------|--------------|------|-------------------|
| Scratch Game | 782 | MYERS FORD ELKTON | 776 | SHIVAHBOOSH | 710 | RACKEM SMACKEM |
| Scratch Series | 2086 | MYERS FORD ELKTON | 1992 | SHIVAHBOOSH | 1957 | CASH IN LAW |
| Handicap Game | 832 | LUNAR LEGENDS | 795 | SHIVAHBOOSH | 793 | MYERS FORD ELKTON |
| Handicap Series | 2191 | LUNAR LEGENDS | 2166 | CASH IN LAW | 2162 | JKJ MECHANICAL |
| Scratch Game | 288 | Terry Horne | 286 | Jack Cash | 279 | William Miller |
| Scratch Series | 764 | Jack Cash | 757 | Kyle Miller | 738 | Travis Nelson |
| Handicap Game | 314 | Bradly Burnett | 312 | Terry Horne | 298 | Ken Wandless |
| Handicap Series | 806 | Bradly Burnett | 788 | Ken Wandless | 777 | Stanley Michael |
| | | | | | 777 | Jacob Simon |

Team Rosters

| Name | Pins | Gms | Avg HDCP | | Name | Pins | Gms | Avg HDCP | |
|---------------------------|-------|-----|----------|----|--------------------------------|-------|-----|----------|----|
| 1 - Team 1 | | | | | 2 - SLOP COUNTS | | | | |
| Brian Robinson | 5136 | 27 | 190 | 27 | Rudy Long | 9215 | 51 | 180 | 36 |
| Sheron Sewell | 7753 | 45 | 172 | 43 | Neil Good | 8480 | 51 | 166 | 48 |
| Andrew Robinson | 10477 | 51 | 205 | 13 | Harry Archer | 8977 | 48 | 187 | 29 |
| 3 - RACKEM SMACKEM | | | | | 4 - TRIPLE G | | | | |
| Josh Shifflett | 10240 | 51 | 200 | 18 | Ron Grenon | 7674 | 48 | 159 | 54 |
| Jeff Shifflett | 9556 | 48 | 199 | 18 | Rebecca Gray | 5279 | 45 | 117 | 92 |
| Roger Young | 8241 | 42 | 196 | 21 | Robert Gray | 8025 | 48 | 167 | 47 |
| 5 - JKJ MECHANICAL | | | | | 6 - FAMILY TRADITIONS | | | | |
| Kathryn Miller | 7947 | 48 | 165 | 49 | Kenny Lohr | 7367 | 51 | 144 | 68 |
| Diane Weyman | 5572 | 45 | 123 | 87 | Robbie Miller | 11252 | 51 | 220 | 0 |
| James Koogler | 9593 | 48 | 199 | 18 | Kyle Miller | 10777 | 48 | 224 | 0 |
| 7 - PRICE ELEX | | | | | 8 - Team 8 | | | | |
| Buck Price | 8131 | 51 | 159 | 54 | Jacob Simon | 9166 | 45 | 203 | 15 |
| Pete Sampson | 7463 | 42 | 177 | 38 | Merrill Simon | 7206 | 42 | 171 | 44 |
| David Miller | 5731 | 30 | 191 | 26 | Charlie Rue | 10507 | 51 | 206 | 12 |
| 9 - CASH IN LAW | | | | | 10 - LESS THAN AVERAGE | | | | |
| Travis Coleman | 9770 | 48 | 203 | 15 | Lexi Campbell | 6147 | 51 | 120 | 90 |
| Brandon Cash | 8900 | 46 | 193 | 24 | Chris Dispanet | 6633 | 48 | 138 | 73 |
| Jack Cash | 10004 | 45 | 222 | 0 | Jack Humphry | 10135 | 51 | 198 | 19 |
| 11 - LUNAR LEGENDS | | | | | 12 - HIGH ROLLERS | | | | |
| Ivan Barisic | 8869 | 50 | 177 | 38 | Buzz Bauman | 7879 | 48 | 164 | 50 |
| Aivon Guzman | 3999 | 35 | 114 | 95 | Andrew Morris | 6346 | 36 | 176 | 39 |
| Terry Horne | 8942 | 45 | 198 | 19 | Jeffrey Robinson | 3991 | 21 | 190 | 27 |
| 13 - KENJIMS | | | | | 14 - SPLITS AND GIGGLES | | | | |
| Jim Flick | 10075 | 51 | 197 | 20 | Ron Ross | 7887 | 42 | 187 | 29 |
| Kendall Lohr | 8591 | 48 | 178 | 37 | Andy Hawkins | 8285 | 48 | 172 | 43 |
| Jimmy Lee | 9882 | 48 | 205 | 13 | Brant Suter | 6316 | 45 | 140 | 72 |

| Name | Pins | Gms | Avg HDCP | | Name | Pins | Gms | Avg HDCP | |
|-------------------------------|-------|-----|----------|----|----------------------|------|-----|----------|----|
| 15 - SPARE PARTS | | | | | 16 - ANIPRO | | | | |
| David Gorton | 9504 | 48 | 198 | 19 | Stanley Michael | 9721 | 51 | 190 | 27 |
| Eric Gorton | 7756 | 45 | 172 | 43 | Jacob Michael | 6924 | 51 | 135 | 76 |
| Ken Wandless | 7578 | 37 | 204 | 14 | Dale Simmons | 8522 | 51 | 167 | 47 |
| 17 - SHIVAHBOOSH | | | | | 18 - YANKEES | | | | |
| Mike Warboy | 10843 | 51 | 212 | 7 | Tom Nelson | 8511 | 45 | 189 | 27 |
| Mark Linski | 6044 | 30 | 201 | 17 | Darrell Wine | 3824 | 21 | 182 | 34 |
| Tom Hodges | 7693 | 39 | 197 | 20 | Jim Pederson | 9283 | 48 | 193 | 24 |
| 19 - MYERS FORD ELKTON | | | | | 20 - B. A. D. | | | | |
| Travis Nelson | 11334 | 51 | 222 | 0 | Don Cabana | 6388 | 39 | 163 | 51 |
| Cord Harvey | 9395 | 44 | 213 | 6 | Austin Cabana | 7021 | 48 | 146 | 66 |
| William Miller | 11505 | 51 | 225 | 0 | Bradly Burnett | 9572 | 51 | 187 | 29 |

Temporary Substitutes Division 1: Division1

Division 1: Division1

| Name | Avg HDCP | | Pins Gms | | High Game | High Sers | HDCP Game | HDCP Sers | -1- | -2- | -3- | Total | HDCP Total |
|--------------------|----------|-----|----------|----|-----------|-----------|-----------|-----------|-----|-----|-----|-------|------------|
| Robert | 140 | 72 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Vac | 140 | 72 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Vav2 | 140 | 72 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Donnie Arey | bk176 | 39 | 443 | 3 | 193 | 443 | | | | | | 0 | 0 |
| Brennan Brown | 212 | 7 | 3190 | 15 | 260 | 713 | 263 | 651 | 183 | 257 | 193 | 633 | 651 |
| Willie Brown | bk210 | 9 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Carol Canlas | bk167 | 47 | 1499 | 9 | 223 | 516 | | | | | | 0 | 0 |
| Patrick Carpenter | bk193 | 24 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Casey Cash | bk220 | 0 | 676 | 3 | 279 | 676 | | | | | | 0 | 0 |
| Joe Claypool | bk205 | 13 | 473 | 3 | 209 | 473 | | | | | | 0 | 0 |
| Jason Cubbage | 140 | 72 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Kipp Decker | 140 | 72 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Morgan Diehl | 145 | 67 | 2189 | 15 | 204 | 488 | 254 | 691 | | | | 0 | 0 |
| Russ Dodson | 219 | 0 | 3956 | 18 | 269 | 699 | 256 | 652 | | | | 0 | 0 |
| Jeremiah Eckard | bk212 | 7 | 500 | 3 | 177 | 500 | | | | | | 0 | 0 |
| Jericho Edwards | bk137 | 74 | 492 | 3 | 188 | 492 | | | | | | 0 | 0 |
| Bill Forbes | 140 | 72 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Mike Gilchrist | 140 | 72 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Linda Gorton | 146 | 66 | 439 | 3 | 183 | 439 | | | 119 | 183 | 137 | 439 | 637 |
| Ryan Gunning | 140 | 72 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Tylor Hartzler | 169 | 45 | 2036 | 12 | 212 | 535 | | | | | | 0 | 0 |
| Bruce Harvey | 140 | 72 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Holly Hawkins | 140 | 72 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Dennis Huffer | 140 | 72 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Kenny Lambert | 217 | 2 | 2612 | 12 | 257 | 680 | | | | | | 0 | 0 |
| Bert Lopez | 120 | 90 | 720 | 6 | 140 | 383 | | | | | | 0 | 0 |
| Ryan Mason | bk191 | 26 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Jose Melendez | bk186 | 30 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Megan Meyerhoeffer | bk102 | 106 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Ron Moore | bk184 | 32 | 719 | 3 | 268 | 719 | | | | | | 0 | 0 |
| Austin Oakes | 140 | 72 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Logan Oakes | 140 | 72 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Ben O'Laker | bk184 | 32 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Elwood Reid | 140 | 72 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Jackie Robinson | bk191 | 26 | 560 | 3 | 199 | 560 | | | | | | 0 | 0 |
| Larry Seal | 168 | 46 | 4541 | 27 | 211 | 559 | 259 | 668 | | | | 0 | 0 |
| Dylan Shifflett | bk212 | 7 | 1831 | 8 | 300 | 764 | | | | | | 0 | 0 |
| Tarinda Showman | bk142 | 70 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Brett Sleicher | 154 | 59 | 1853 | 12 | 206 | 500 | | | 153 | 134 | 143 | 430 | 619 |
| B J Smith | bk206 | 12 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| David Snyder | 140 | 72 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Amarido Spirollari | 181 | 35 | 908 | 5 | 214 | 492 | | | | | | 0 | 0 |
| Trennische Sutton | bk184 | 32 | 1756 | 9 | 263 | 601 | | | | | | 0 | 0 |
| Mike Tate | bk213 | 6 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Eddie Thomas | bk188 | 28 | 556 | 3 | 193 | 556 | | | 182 | 193 | 181 | 556 | 640 |
| Alicia Van Nest | bk134 | 77 | 367 | 3 | 142 | 367 | | | | | | 0 | 0 |
| Brandon Vorgert | 140 | 72 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Cindy Warboy | 167 | 47 | 3013 | 18 | 216 | 579 | 250 | 644 | | | | 0 | 0 |

| Name | Avg HDCP | | Pins | Gms | High | High | HDCP | HDCP | -1- | -2- | -3- | Total | HDCP |
|-------------|----------|----|------|-----|------|------|------|------|-----|-----|-----|-------|-------|
| | | | | | Game | Sers | Game | Sers | | | | | Total |
| Jeanna Ware | 140 | 72 | 0 | 0 | 0 | 0 | | | | | | 0 | 0 |
| Nate Wayne | bk200 | 18 | 1151 | 6 | 235 | 614 | | | | | | 0 | 0 |